Name (in Capital Letters):

Roll Number:

Mobile Number:

Signature:

Note: Welcome to IIT Delhi and thanks for showing interest for joining the Institute
as an employee. Please read the following instructions carefully:
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_The Test for the post of Junior Assistant has TWO phases.

Phase — I: Written Test (70 marks) of 2 hours duration. There are 70 questions in the
written test and each question carries one mark each.

Phase — II: Trade Test - 30 marks (to be conducted on 17" Feb'2020 at Computer
Service Center, Ground Floor, Main Admin Building, Opposite to Seminar Hall for
those who will qualify the written test conducted on 16" Feb'2020).

The Written Test will start at 10:00am on February 16, 2020. No candidate shall be allowed to
leave the Examination Hall before finish of the test (except medical emergency)

Calculators and mobile phones or any other such gadgets or any other reading material etc. are
not allowed during the test. Mobiles can be kept on the front desk in "Switched Off"" mode.
Please answer all questions in the OMR sheet provided. Also fill in the information required
carefully on the OMR sheet. Only duly filled in OMR sheet will be evaluated. Kindly mark the
OMR sheet with Ball PEN. No duplicate OMR sheet will be issued.

There is only one correct /most appropriate answer to each question and the same may be
properly indicated in the OMR sheet.

There is “No Negative Marking".

Except questions in the section on “GENERAL ENGLISH” all other questions are bi-lingual
(Hindi and English). In-case of any ambiguity in translation, the ENGLISH version should be
referred.

On completion of the examination, all candidates are required to submit the filled in OMR
sheet and the Question Booklet to the invigilators in the examination hall.

The result of the Written Test will be displayed in front of the Security Office and near the
front gate of Lecture Hall Complex (LHC).

Attempt will be made to inform the written test qualifiers through SMS text "You have
qualified in the Written Test for the post of Junior Assistant". Kindly mention the number of
the phone you are carrying in the OMR sheet for sending the information.

Kindly sign in all the pages of the question paper.

Wish you "All the BEST".
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Part-A/ 9T—<h

General English

Directions (1-4): In the following questions sentences are given with blanks to be filled in with appropriate
word(s). Four alternatives are suggested for each question. Choose the correct alternative out of the four.

1 The company let me time off work.
(A)  take (B)  taking © to take (D)  took
2. I assume with me.
(A) everyone agreeing (B) that everyone agrees
(©) everyone to agree (D)  that everyone to agree
3. the rain forests is very important, if we do not want the flora and fauna found there to become
extinet.
(A) Reserving (B) Destroying
(©) Preserving (D) Maintaining

4, If I had helped him, he

(A) will not be drowned (B) would be drowned
© will not be drowned (D) would not have drowned

Directions (5-8): In the following questions, choose the word opposite in meaning to the given word.

5 Denounce

(A) grant (B) praise ©) signify (D) confirm
6. Disorderly

(A) chaotic (B) linear (C) adjusted (D) arranged
1. Eloquent

(A) lucid (B) vivid (C) short (D) inarticulate

8. Glossy

(A) dull (B) shining © weary (D) tired



Directions (9-12): In each of the following questions, four alternatives are given for the meaning of the given
Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase.

9.

10.

11

12.

A bolt from the blue

(A) a delayed event (B)
©) an unexpected event (D)
Cold comfort

(A)  absurdity (B)
©) slight satisfaction (D)

To be all at sea.

(A) A family voyage (B)
Q) in the middle of the ocean (D)

To take to one’s heels

(A) to walk slowly (B)
(C) to march forward (D)

an inexplicable event
an unpleasant event

deception
foolish proposal

lost and confused
a string of island

to run away
to hop and jump

Directions (13-16): In the following questions, four alternatives are given for the idiom/phrase printed in beld.
Choose the alternative which best expresses the meaning of the idiom/phrase.

13

14.

iy

In spite of his recent financial troubles, Ashok has not learnt to cut his coat according to his cloth.

(A) overcome his problem (B)
©) improve his tailoring abilities (D)

The secretary had the information at her fingertips.

(A) on her typewriter (B)
©) in the compact disc (D)

Eventually he decided to take the bull by the horns

(A) to check rumours from spreading (B)
) to face danger (D)

wear modest clothes
live within his income

readily available
not accessible

to inflict a crushing defeat upon the enemy
to restrain anger

Consoling her daughter, the mother said that there was no use crying over spilled milk.

(A) to slip and spill milk

(B) complaining about an event that cannot be changed

(©) worrying about the milk that was spilled
(D) to cry demanding a glass of milk

3/12.



Directions (17-20): In the following questions, some parts of the sentences have errors and some are correct.
Find out which part of a sentence has an error. The number of that part is your answer. If a sentence is free from
error, then your answer is (D) i.e., No error.

17. With our great annoyance, (A)/ we found the ground (B)/ filled with broken glasses. (C)/ No error. (D)

18. He was (A)/ a learnt man among lords, (B) / and a lord among learned men. (C)/ No error. (D)

19. The new device (A)/ aims at eliminating (B)/ the risk of short-circuiting. (C)/ No error. (D)

20. You can eat (A)/as much as you like (B)/at the newly lunch bar (C)/No error (D)

Directions (21- 22): Provide one word substitution for the following sentences

21. A person who thinks of only himself.
(A) Egoist (B) Eccentric (C) Proud (D) Boaster
22, The practice of having more than one wife.
(A) Bigamy (B) Polyandry (C) Polygamy (D) Monogamy

Directions (23-25): Read the passage and answer the questions that follow:

It has often been said that the scale of natural phenomena in India and her total dependence on the monsoon,
have helped to form the character of her people. Even today, major disasters, such as flood, famine and plaque,
are hard to check, and in olden times, their control was almost impossible. Many other ancient civilizations,
such as those of the Greeks, Romans and Chinese, had to contend with hard winters, which encouraged
sturdiness and resourcefulness. India, on the other hand, was blessed by a bounteous nature, which demanded
little of man in return for, but in her terrible anger could not be appeased by any human effort. Hence it has been

suggested that the Indian character has tended to quietism, accepting fortune and misfortune alike without
complaint.

23. The author’s main argument is
(A) Description of natural phenomena of India
(B) Unpredictability of Indian Monsoon
(C) Correlation between the climate and the character of inhabitants of a region
(D) Hardships caused by natural calamities

24. The expression “India on the other hand, was blesses by a bounteous nature.....” means
(A) Indian soil is fertile

(B) India is a land of flora and fauna

(C) Indian people have been rewarded more generously by nature in proportion to their efforts
(D) Indian soil is suited for growing a variety of crops

25. Which trait of Indian Character has been formed by the monsoon

(A) Fatalism (B) Sturdiness
(C) Asceticism (D) Epicureanism
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30.

Part-B / ar—&

Office Procedures / ®rafed d&fd

What is the maximum limit of un-availed
portion of Earned Leave that can be encashed
by a Govt. servant at the time of his/her
retirement?

(A) 100 days (B)
(C) 300 days (D)

200 days
400 days

The business to be conducted in any meeting
is conveyed to the members through

(A) Letter (B) Notice

(C) Agenda (D) Both (B) & (C)

A central government employee is due to
retire on attaining 60 years of age. His date of
birth is January 1, 1960. His retirement date
is

(A) January 1, 2020 (B) December 3 1,2019
(C) January 31,2020 (D) None of these

In order to maintain the office equipment in
good running condition often organizations
resort to a yearly system of contract with the
vendor/supplier. What is this contract called?

(A) Repair & Maintenance Contract

(B) Annual Maintenance Contract

(C) Annual Contract

(D) None of these.

ICC under the Sexual Harassment of Women
at Workplace (Prevention, Prohibition and
Redressal) Act, 2013 stands for —

(A) International Complaint Committee

(B) Internal Complaint Committee

(C) Internal Complaints Committee

(D) Inquiries into Complaint Committee

The term ‘QUORUM ‘relating to any
meeting denotes what?

(A) Presence of minimum number of
members required to conduct the meeting

(B) Total number of members who are called
for the meeting

(C) Both (A) & (B)

(D) None of the above

26. sﬁamﬁwmﬁmﬁmﬁm

27,

28.

31

w%ﬁﬂﬂfkmﬁﬁmﬁqﬁ-‘ﬁﬁm@wﬁ
ST BT AHE UT fBaAT O Wl 87
(A) 100 f&= (B) 200 &=
(C) 300 f= (D) 400 f&=

St daep 3 rERTE Rt oY aTer faeee wesdl @t e
T | T AT AH &

(A) T (B) gz

(C) BRIREA (Tofen (D) ST (B) T (C)

T AT TR e 60 A Y ITY WH B ¥
frger @ T B, AR I AR 1 A 1960 T @
et Jar gy i fifdr aar 8Fire

(A)1SER 2020  (B) 31 ReF=aR 2019

(C) 31 TR 2020 (D) T A BIS A

FrateT Sumwil (3fifew sRwe) &t sEst Rfy o
v ¥ i Repensmfiaat & wrr arffe e &
FERT FOTT AT, $ ST Y T T AT &2

(A) TR Ud TERETE A
(B) =ififen YEvETE STEd
(C) Tfiie e

(D) FTHADETE

FriwE | ARt ® 99 sded @eum, Fie sk
feram) aiferfram, 2013 ® Ted AE WM. o a9 B —

(A) sicxisha Rieraa wfif

(B) afaRe Rema afifa

(C) wriaRe Rl B |

(D) R afft 3 geaw

fopeit daep i ety 3 TTOTGRY () gTes T SEIiET §

(A) o0 @1 WU SR & A gan weedl 6
Safrafy

(B) T el oy W R o 3 g e &

(C) T (A) T (B)

(D) &9 & g e
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32,

36.

What is the maximum number of days of
casual leave that can be granted to a Govt.
servant at any one time?

(A)
(€)

5 days
6 days (D)

(B)
7 days

8 days

In a two bid system, what are the two bids -(i)
Technical bid (ii) Dynamic bid (iii)
Financial bid (iv) Online bid

(A)
© (D)

What is the percentage of Employer's
contribution under National Pension Scheme
(NPS) from 1.4.2019?

(A 10% (B)
©)  14% (D)

The full form of DO Letter is

(i) and (iii)
(ii) and (iv)

(B) (i) and (ii)

(ii) and (iii)

12%
15%

(A) Divisional Official Letter
(B) Direct Official Letter
(C) Demi —Official Letter

(D) None of these.

IIT Act was passed in the year
(A) 1959 (B) 1960
(C) 1961 (D)1962

The process of discarding old documents and
files is called.

(A) Culling

(B) Weeding

(C) Destroying

(D) All of the above

The decisions taken during a meeting are
recorded as

(A) Notes (B) Resolution

(C) Minutes (D) Both (B) & (C)

A financial estimate of receipts and
expenditure of an organization is called
(A) Accounts (B) Budget

(C) Projection (D) None of these

(8]
[

ad
LI

34.

37.

s 999§ i f) aver edar & & o7 9o
qTell AMHRAD HTHTY &1 AWHaH & a1 27

5=
6 &1

(A)
©

8 fe=
7=

(B)
(D)

1 e womelt & ) Pifer s 2 —(i) T
Pfier (i) Refe PR (i) PR (iv)
aifemge fAfder)

(A) @R @Gi) (B) ()R (i)

©) G)sRGv) D) (i) o Gii)
01.042019 ¥ ST UvH yue) @ aed FAler @
AN BT i @ar 27

(A)  10% B) 12%

©) 14% D) 15%

<. 3. T BT AR &

(A) Tediwrer siiftpfyae o
(B) STERET JAfplyder uar
(€) =-aiiftsRyae uxr

(D) FH A A

manéaarfﬁﬁmmmﬁmaﬁﬁmﬂgmm

(A) 1959 (8)
(©) 1961 (D)

1960
1962

IR SRS IR rgel! @) Reenrs @ 6t ufisar @t war
iG-S

(A) BT

(B) difsT

(C) S¥gTET

(D) TEf

% 5 & Frofa fpe o & oof e o &

(A) ey (B) e

(€) wRgafPEe) (D)  SFr@)T(E)
. fodht v &1 mftet (e sk @ & Rl

ST Y HET ST &

(A) T (B) g5

(C) SorerT (D) §7 A IS TE



40.

41.

42,

44

What is the maximum number of days within  40.

which an applicant is to be provided response
by a public authority under RTI Act, 2005?

(A)  30days (B) 60 days

(C) 90 days (D) 45 days

Total number of IITs at present in India is 41.
(A)21 (B)23
(C)25 (D) 22

In the initial phase of its establishment, T 42,

Delhi received substantial assistance in the
form of equipment and expert service etc.
from

(A)USA  (B) United Kingdom

(C) Germany (D) USSR

One of the following activities undertaken by 43,

a government servani may not require prior

permission from the organization —

(A)  To join educational institutions or

course of studies for university

degree

(B)  To accept fee for work done for any
private or public body or person

© To enter into negotiations with
private firms to secure commercial
employment even while in service

(D) To seek redressal in a Court of Law
for grievances arising out of
employment or conditions of service

The IITs are autonomous bodies under 44,

(A) Ministry of Human Resource
Development

(B) Ministry of Finance

(C) Ministry of Science and Technology

(D) Prime Minister’s Office

wom @ SteR e, 2005 @ dd
AR fra Rl @ AR @ TS B
Wmﬁmmwéﬁ%?

(A) 30f=E  (B) 60 &=

() 9f= (D) 45 f&=1

TR 3 591 T et et TS o &1 ¥

(A) 21 (B) 23

(C) 25 (D) 22

Sueolt vd frers et ¥ wa F omd g &
et @ sy ¥ v R 3T ¥ S g%

(A) T ITou AR (B) ERIESS
fired

(C) SR (D) T T T AN

wmﬂaﬁmﬁmﬁﬁﬁnﬁﬁﬁﬁ
3 Q e we AR B fg e | @
SRy BT AT TE e 87

(A) fivafiarer @ sul & foy Af®

B R (L | U2

(B)

(©)
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46.

47.

48.

49,

Joint Entrance Examination (Mains) is
conducted by

(A) Indian Institute of Technology

(B) Indian Institute of Management

(C) Central Board of Secondary Education
(D) None of the Above

What is the percentage of reservation
provided for Persons with Disabilities —

(A 10% (B) 3%
© 4% (D) %

Total number of second generation I Ts
(started/converted during 2008-2012) are

(A)8
(B)9
€7
(D) 10

The income from all sources for the financial
year prior to the year of application for the
purpose of EWS reservation should not
exceed

(A) Rs. 5 lakhs
(B} Rs. 6 lakhs
(C) Rs. 7 lakhs
(D) Rs. 8 lakhs

What is the number of pay levels available in
Pay Matrix for Government Servants
(Civilian Employees), upon implementation
of 7" Pay Commission?

(A) 15

(B) 18

(C) 20

(D) 16

4=
n

46.

47.

48.

49.

Y FART G (72) Pt F | Rewds Jwr smafore
& T E

(A) IR SienfrT W=

(B) YR Hae+ G AT

(C) ey Areafiy Rrem s

(D) T & Y T

TNIR® ®U A 3w wfdadl @ foe s
o1 ufer a1 87

A 10% B) 3%

© 4% D) 5%

a9t & TSN, S (2008-2012 F IR I §C/
air$ a1m$ € H uRafia) g 6t o W T E?

(A) 8

B 9

& 7

(o) 10

< e U STIREVT 3 AT U FRA R & a9 § g
arer foxta o & i Wl & 8 arelt siftrear s @
BT Tfeg?

(A) 5 o9 B9
(B) 6 @@ wUA
(C) 7 &g v
(D) 8 &I U

AT ST SIRINT & T B9 & vy e (Rififerar
FHaal ¥ Y-ARew § e U-oaer &1 wraHE

Ty _
(A) 15
(B) 18
() 20
(D) 16
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The Central Government declares the birth 50,

anniversary of Baba Saheb Dr. B. R.
Ambedkar as a holiday every year. This
holiday is not mentioned in the list of
‘Gazetted Holidays’ of the Central
Government. Under what provisions this
holiday is declared?

(A) Special Powers of the Central
Government

(B) Presidential Orders

(C) Negotiable Instruments Act

(D) All of these

e TARER UAS I F16T TS Sf 41 AR ISH? 6
ST @Y IEdIeT b BT i @ 1 5w
STTHILT HT SeoRT B UNBR & o4 argarer
& A 7 TET ¢ | R smae & 9w a7 sremrer
By fomar ST 82

(A) &g wRER & GewRer
(B) TSGR ok ST

(€ FriRfivae svgiicy e
(D) T

Part-C/ 99T
Simple Arithmetic / =T iHTforg

If the average of @ and b is 40 and the 351.

average of b and c is 60. What is the value of
c—a?

[A] 50 [B] 40

[C] 58 [D] 62

A cyclist moving on a circular track of radius 52,

84 meters completes one revolution in 4
minutes. What is the speed of the cyclist?

[A] 140 m/min [B] 121 m/min
[C] 132 m/min [D] 146 m/min

A number is increased by 20% and then 53,

decreased by 40%. The result is what percent
of the original number?

[A]  72% [B] 8%
[C] 100% [D] 63%
The perimeter of a square is twice the 54.

perimeter of a rectangle. If the perimeter of
the square is 72 cms and the length of the
rectangle is 12 ems, what is the difference
between the side of the square and the
breadth of the rectangle?

[A] 9cm [B]
[C] 18 ecm D]

12 ¢cm
3cm

I o 3R b &7 TG 40 B TAT b 3R ¢ BT
3RIT 60 & W c—a BT FF FT BIT?
[A] 50 [B] 40

[C] 58 [D] 62

84 Ho B Aewr & (& TAHR §F W T
e Argfhe = 4 e ¥ e TR g
P T | AIEfhd aee B I qar 7
[A] 140#./f9e [B] 121 /. /fse
[C] 132#%./f"e D] 146 /R

U HE&T gga 20 W9 a«erd et € s
3% 9% F 40 URYT "ed s 2| SH@r

uRemE Hqe e @1 faar ufiee 272
[A] 72% [B] 8%
[C] 100% [D] 63%

T ot it aRfer ge s Y oRkfyr v e & 1 3R
o & afkfRr 72 0 & ofiR ormae Y darE 12 W R
&Y o Y oo 3R ST Y witerd A R s & 2

[A] 9 [B]
[C] 18 9T [D]

12 WY
39
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Find compound interest on Rs. 7500 at 4% 55.

per annum for
annually?

2 years, compounded

[A] 710 [B]
[C] 622 [D]

612
610

A copper ball of 18 cm diameter is drawn 56.

into a wire of 4mm diameter. What will be

the length in meters of the wire so drawn?
[A] 243 [B] 2430

[C] 24.3 [D] 2.43

A train of length 270 meters is running at 36 57,

km per hour. How much time it will take to

cross a bridge of 180 meters?
[A] 45 seconds [B] 50 seconds

[C] 35 seconds [D] 40 seconds

(Odd numbers from 1 to 45, which are 58.

divisible by 3, have been arranged in an
ascending order series. Which number will
come at serial number 6?

[A] 18 [B] 24
[C] 33 (D] 36
A man performs 2/15" of his journey by 59

train, 9/20" by bus and remaining 10
kilometer by cycle. How many kilometers his
total journey is?

[A] 15.6
[C] 16.4

[B] 24
D] 12.8

Cost of 8 buckets and 5 mugs is Rs. 92 and 60
the cost of 5 buckets and 8 mugs is Rs. 77.
Find out the cost of 2 mugs and 3 buckets.

[A]Rs. 35
[C] Rs. 30

[B] Rs. 70
[D] Rs. 38

%. 7500 @ IO WX 4 ufdwa uftey @
el &Y W 2 9 &7 wmafe S fhee
BTT?

[A] 710 [B] 612

[C] 622 [D] 610

Teh i & el @ foraa @ 18 W § Wiaaw 4
Rt IR aTel U AR ¥ ST TRIT 8 | 9eIR S

AR &Y Fars fopam drex grie?
[A] 243 [B] 2430
[C] 24.3 [D] 2.43

270 HIeR S U YRl 36 feirdiey wRy wer &t
TTfeT ¥ <ot XET & | GETER aE 180 HeX & el B

e wHT H AR FR RN 2
[A] 45 Sifths [B] 50 WfFs
[C] 35 Afthe [D] 40 Vs

1 W 45 T P I ey wEaTa) @) @ 3 ¥ i
Bl U ARIEY 9 ¥ @7 T, i ST 9 T 6
TR AT S R &

[A] 18 [B] 24

[C] 33 [D] 36

U <Afth 3O ATAT &1 2/15 FT ¥ § TN e &,
9/20 WFT & W @val g 3R 9w 10 freirfiey
WTSfeRer ¥ wer 81 IWHY Pt AT fre Rpeiniter
g7

[A] 15.6 [B] 24

[C] 16.4 [D] 12.8

8 wifecal iR 5 W1 & PoT AT 92 FUT & &R 5
aifeedl sik 8 Wil 6 ot @RI 77 FUC § | TEIER

2 T OIT 3 Frfeeat &Y @ ST SR
[A] 35 BUT [B] 70 ®UT
[C] 30 BUY [D] 38 4T
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61.

64.

66.

In a square field of 50 meter side, production
of rice is 1000kg. How much rice will be
produced in same type of square field having
a side of 100 meters

[A] 2000 kg
[C] 4000 kg

[B] 1100 kg
[D] 1150 ke

; ; 1,
A sum at simple interest at a rate of I3—2- 0

per annum amounts to Rs. 2502.50 after 4
years. Find the sum?

[A]
[C]

1925
1675

1775
1625

[B]
[D]

If square of sum of two numbers is 4 times of
their multiplication, what will be the ratio of
these two numbers?

[A] 1:3
[C] 1:2

[B] 1:1

[D] 2:1

A person invests Rs. 4000 for three years and
Rs. 3000 for 5 years at the same rate of
simple interest. She gets Rs. 150 more as

interest on her second investment. What is
the annual rate of interest?

[A] 4%
[C] 5%

[B]4.5%
[D] 6%
A man sold 250 chairs and earned profit

equal to selling price of 50 chairs. What was
his profit percentage?

[A] 25%
[C] 15%

[B] 50%
[D] 20%

A library has an average of 510 visitors on
Sundays and 240 on other days. The average
number of visitors per day in month of 30
days beginning with a Sunday is?

[A] 250 [B] 276

[C] 280 [D] 285

61

63.

64

65

66.

50 HIeX YOIT aTet U DI &5 & Traet &7 Searee
1000 f&FaT 81 TETHR ST TXE & 100 Hiex oI aTel U

[ ¥ fora araer T IcTET BN
[A] 2000 RFeuTT [B] 1100 foraramy
[C] 4000 RpctrIT [D1 1150 ferenamry

%Wﬁwmﬂﬁmizﬁﬁﬁﬁ

4 99 &1 AsET 5. 250250 B 98 99 ST
HITeTel

(Al
(€]

1925
1675

1775
1625

[B]
[D]

afg &1 deaEt & dor w1 T 3 qUEH F 4
T ¥, A 39 A FEMA FT I TG
[A] 1:3 [B] 1:1

[C] 1:2 [D] 2:1

T Afth 4000 B9 A asf & f&e 3ik 3000 B9
qtg gul & AT U T [TeRoT @rer uR frder #Rar
Bl SN 1% gTel Fraer v 150 BT 3rfie TS W
erar 81 a1fife sgrar Y o e &2

[A] 4% [B] 4.5%

[C] 5% [D] 6%

T =afeh | 250 HREAT I 3fl 37 ux 50 PRI
fershY 7o & aRTeR @ T feam W @y
wftrerer e o

[A] 25% [B] 50%

[C115% [D] 20%

T gRiarerd # AR B ArTgS! a1 s
510 T 3y fa=T # 240 21 30 RET & wd
4 R WAR ¥ goera B ¥ anTge!

& o airaa s w7 BNh?
[A] 250 Bl 276
[C] 280 [D] 285
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67.

68.

69.

70.

A hostel has food material for 50 students
sufficient for 45 days. For how many days
the same quantity of food material will be
sufficient for 75 students

[A] 25 days
[C] 30 days

[B] 28 days
[D] 40 days

A and B together can complete a piece of 68.

work in 4 days. If A alone can complete the
same work in 12 days, in how many days
can B alone complete that work?

[A] 6 days {B]
[C]  7days [D]

5 days
10 days

The average weight of 21 students is 64 kg.
If the weight of the teacher is added, the
average weight is increased by one (1) kg.
What is the weight of the teacher?
[A] 86 kg [B] 64 kg
[C] 72 kg [D] 98 kg

Raj sold an item for Rs 7000 and
incurred a loss of 30 %. At what price should
he have sold the item to have gained a profit
of 30 %?

[A] Rs 13000
[C] Rs 9100

[B] Rs 10000
[D] Rs 11830

67

69.

70.

U BIATEN 5 50 BT & {17 45 & &t o= |t
& O Iz @ 9l 75 BrE & o fraw feAT & fow
qIig 8ri?

[A] 25 =T [B] 28 f&=T

[C] 30 f&=t [D] 40 &=

A 3R B 5 & & W § feav 4 R A
I X Gahd o | AR A S B B 12 RS
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o
COMPUTER TEST {On Paper) for the Post of Junior Assistant

Roll No: Name:

Signature of Candidate: Signature of Invigilator:

Time: 45 minutes. Each question carries % marks. Total marks: 20

4. In mail merge operation which of the following might répresent the maijn document?
a. A sales brochure b. A form letter ¢. A database names and addresses

d. All of the above

3. Ctrl+2
- a. Undo the Jast Action b. Redo the Jast Action
C. Add the new page d. Paste the contents from clipboard
6. What does Ctr| + = key effect? 5
a. Superscript b. Subscript c. All Caps d. Shadow
7. The spike

a. Allows you to combine text from severa] documents and then insert all the text into one
document at one time

b. Allows YOu to edit auto text entries C. Allows yoy to format aute text entries

d. All of above



8. Which of the following is the second step in creating a macro?

a. Start recording
b. Using your mouse or keyboard, perform the task you want to automate
c. Assign a keyboard shortcut to the macro d. Give the macro a name

9. If the number of columns is selected 1 and the line between check-box is marked, where is
the line drawn?

a. in the left margin b. in the right margin

c. both in left and right margin " d. None of Above

10. When inserting Page number in footer it appeared 1 but you wish to show a. How can you
do that?

a. From format menu choose bullets and Numbering and configure necessary setting
b. From Insert menu choose Page Number and specify necessary setting

c. Click on Page Number Format tool and specify required setting

d. All of above

11. Which of the following is not a way to complete a cell entry?

a. Pressing enter b. Pressing any arrow key on the keyboard
c. Clicking the Enter button on the Formula bar d. Pressing spacebar

12. Which is used to perform what if analysis?

a. Solver b. Goal seek ¢. Scenario Manager d. All of above

13. Multiple calculations can be made in a single formuta using

a. standard formulas b. array formula c. complex formulas d. smart formula

14. To hold row and column titles in place so that they do not scroll when you scroll a
worksheet, click the

a. Unfreeze panes command on the window menu
b. Freeze panes command on the window menu

¢. Hold titles command on the edit menu  d. Split command on the window menu



15. Rounding errors can occur
a. When you use multiplication, division, or exponentiation in a formula
b. When you use addition and subtraction in a formula

C. Because excel uses hidden decimal places in computation

d. When you show the results of formulas with different decimal places on the calculated
results

16. When you link data maintained in an exce| workbook to a word document
a. The word document cannot be edited

b. The word document contains a reference to the original source application

c. The word document must contain a hyperlink

d. The word document contains a copy of the actual data

17. A circular reference is

a. Geometric modeling tool b. A cell that points to a drawing object

¢. A formula that either directly or indirectly depends on itself

d. Always erroneous

18. Which of the following is not a valid data type in excel

a.Number b, Character C. Label d. Date/time

19. Which elements of worksheet can be protected from accidental modification

a. Contents b. Objects C. Scenarios d. All of above

should you use?

a. Pie chart b. Row chart C. Line chart d. Column chart

21. When you want to insert a blank imbedded exce| object in a word document you can
a. Click the object tommand on the insert menu

b. Click the office links button on the standard toolbar

¢. Click the create worksheet button on the formatting toolbar

d. Click the import excel command on the file meny



22. Which of the following is not a worksheet design criterion?

a. Efficiency b. Aditibility c. Description d. Clarity
23. Which of the following formulas will Excel Not be able to calculate?

a. =SUM(Sales)-A3 b. =SUM(A1:A5)*.5

¢. =SUM(A1:A5)/(10-10) d. =SUM(A1:A5)-10

24. How many characters can be typed in a single cell in Excel?

- b. 1024 c. 32000 d. 65535

25. Which function will calculate the number of workdays between 6/9/2004 and 8/12/2004?

a. Workday b. Date c. Networkdays d. All of the above
26. Concatenation of text can be done using

a. Apostrophe (') b. Exclamation (I) c. Hash (#) d. Ampersand (&)
27. You can group noncontiguous worksheets with -

a. The group button on the standard toolbar

b. The shift key and the mouse c. The ctrl key and mouse  d. The alt+enter key
28. What term refers to a specific set of values saved with the workbook?

a. Range b. Scenario c. Trend line d. What-if analysis
29. Which of the cell pointer indicates you that you can make selection?

a. Doctor’s symbol (Big Plus) b. small thin pius icon

c. Mouse Pointer with anchor at the tip d. None of above

30. Which of the following you can paste selectively using Paste Special command?
a. Validation b. Formats ¢. Formulas d. All of above

31. _ controls all the main slide control tasks for your presentation,

a. Task Pane b. Task bar c. Control Panel d. None of the above



32, Which of the following statement is false?

(a) If you choose to select from one of the pre-made slide layouts, you can change the
positioning

(b) If you choose to select from the pre-made slide layouts, you cannot delete the objects in the
layout (c) Blank slide is at the top of the ‘Content layouts’ area in the slide layout panel

(d) All of the above

33. What feature will You use to apply motion effects in between a slide exits and another
enters?

(a) Slide transition (b) Slide design (c) Animation objects (d) Animation Scheme
34. The difference between Slide design and Auto Content Wizard is _.
(a) Both are same (b) Auto content wizard is just the wizard version of slide design

. (c) Slide design doesn’t provide sample content but Auto content wizard provides sample
content

(d) Slide design asks your choice in steps but Auto content wizard doesn’t let you make choices
35. Which of the following is not 3 part of Slide design?
(a) Design template (b) Colour scheme (c) Animation scheme (d) Slide layout

36. In Microsoft pPower point, two kinds of sound effects files that can be added to the

presentation are
(a) .wav files and .mid files (b) .wav files and gif files

(c) .wav files and -jpg files (d) .jpg files and .gif files

37. E-mall address is made up of _,

(a) Single part (b) Two parts (c) Three parts (d) Four parts.

38. The e-mail component of Internet Explorer is called _.v

(a) message box (b) outlook express (c) messenger mailbox (d) none of the above
39. Verification of 3 login name and Password is known as _,

(a) configuration (b) accessibility (c) authentication (d) logging in
40. Full form of HTMLis .

(a) Hyper Text Markup Language (b) Hyper Text Manipulation Language

(c) Hyper Text Managing Links (d) Hyper Text Manipulating Links.
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